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5 |[TZUNEE2— (PAFITI)) =F )L 255 255
6 |7TI7UNLEE2—EREXL =T L 0.007 0.007
7 | TOUNER LIV — T F )L 24 24
8 |TZUNFRATF L 0.009 255 255
9 |[77Va=kJ)L 0.32 102 102
10 |[77ulb A 54 329 1,952 26 384 69 2,815
11 |7V R A 0.057 0.057
12 |[TEMLTER 0.40 241 1,808 9,775 144 1,608 3,315 1,342 52 18,285
13 |7 E&h=FL 45 129 174
14 |7ER T ERY
5 | 7eF77
16 |2, 2 —T7 ALY T Fu=r L 0.004 0.004
17 [ANb—T=
18 | 7=V 0.032 0.032
19 1—73/—9, 10— T % /v
20 |2—T3)xHK)—)L 145 34,659 26,844 61,648
21 |rayxy
22 |74 7 m=)L 1,602 30 1,632
23 [T —=T3)T=x/)—)L
24 |\ AR—T3I)Tx/)—)V
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27 | A¥Ipmy
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54 |ARAFTP—h 84 84
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57 |=FL P Va— L/ oF)Lo—F)L 538 538
58 |=F LS Va—)LE ) AF )L o—F )L 33 33
59 [mFLLUTI 0.016 0.016
60 |=FL U7 UEERR 0.57 21 33 55
61 |~ %7 1,950 1,950
62 |~ratr 4,404 4,404
63 [T 7 eIR 1,652 1,652
64 |Th7xr Ty IR 314 94 408
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69 V%
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6 |\ AT —hTaT IR 2.0 2.0
7 AN TSR
78 |2, 4—F L /—)L
79 12, 6—F2L/—)L
80 |FI L 57,589 7,979 355 697 160,238 27,487 1,206 131,737 4,877 823 14,102 791 38] 407,919
81 | /U 0.00003 0.00003
82 RN OF DKL AW 9.7 11 0.26 21
83 |[ZAS 435 0.30 679 1,115
84 |(ZVUAFY—)L 0.023 0.023
85 |ZILHEILT LT ER 4.8 4.8
86 |71 — /L 2.2 114 116
YR A=ON QO =P N (A= Y] 2.9 0.20 22 39 2.3 66
88 | NfliZu2b &Y 0.78 0.78
89 |/unr=Jr
90 |ThTvv
91 [>T FTv
92 |FMLT7z BTR 150 150
93 | AT m—)u
94 ke =1 0.77 0.77
95 |ZATIF A 82 82
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129 [4—/vu—3—AF )T x/)—)L
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150 |1, 4— A %W 24 4.5 29
151 |1, 3— XI5
152 | %7 258 258
153 |7 b7 AR 668 668
154 [ 7a~FI LTI
155 IN— (S Za~¥ )vF4) 72V AR 0.61 0.61
156 |¥7muur=y.
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3,3 —/un—4,4 —7I)V 7=
160 | 0.20 0.20
161 |CFC—12 3,294 3,294
162 |7’ ¥IR 100 100
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165 |2, 4—Zumphlxy
166 |1, 2—>/un—4—=—fa~ B
167 |1, 4—7um—2—=fp~_ P
168 |7 a 45 45
169 |Pouay 0.10 54,550 54,550
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189 N, N—v7anFi i —2—~_)F7
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197 [=5 1,750 1,750
198 | AhT—h
199 |CIZ/LAL A B R260
200 |v=haRl T
201 |2, 4—Y=ka7x/)—)L
202 | =P
203 |7 z= LT3 0.18 0.18
204 |7 =)L —F )L
205 |1, 3— VT VT T = 0.00004 0.00004
206 | HIVIRA)LVT 7 925 925
207 33_6”/ Amvx =T FN—4=T 3.3 63 37 103
208 |2, 44—V — 44— ¥)—TF)NTx/)—)L
209 |7 mEsaonAx 1,099 784 1,884
210 |2, 2—27a®E—2—7 )7 ®RTIR
211 |»~Nur—2402
212 | 77—} 275 275
213 IN, N—IAF LT ERTIR 140 14 154
214 |2, A= AF LT =V
215 |2, 6—AF LT =V
216 [N, N—IAF L7 =1 0.002 0.002
217 |FAHT TN 150 150
218 [PAF LTI 0.50 0.50
219 |AF LI AL T 4R
220 | AF IV FF IV S EED KRR
221 | _UT7FHNVT 4,800 4,800
222 [T )FAIINT
223 IN, N=UAFILRTVINT IV
224 |\ NTHAT VTN T ENAR 6.4 11,504 120 11,720
225 |F) 7Ly 13 13
226 |1, 1=V AF)LERTV
227 [/XFa—} 1,180 1,180
998 3,3’ fyf%/vh‘7:z:/v—4, 4’ =

=AY T F—h
229 |FA T 7 F—FAF )L 782 782
930 N—(1, 3—9%%/1/7%/1/)—N’—7;

V= INTG—T =L VT I
231 |A/NVk—R)
232 IN, N—IAF )LALLT IR 6,452 6,452
233 |7z hT—h 368 368
234 | R 0.033 0.033
235 | R FFEDKIEIER 0.0001 0.0001
236 |TATFL =)
237 | KERKX ZDILEY 0.28 23 21 44
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239 | HEAX{LEY 1.2 1.2
240 |[AFL > 1,488 0.058 293 170 6,257 878 247 2,711 12,044
941 2—2ZNVIRANF YT hHUE—1—AF LT R

TV NI L
242 | BEL U R ONZEDOILEY 0.002 85 85
243 | FAA TV HE 305 305
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245 |FARFE 0.00008 0.00008
246 |FA T /)—)L
247 BT 70k A
248 | ATV ) 1,165 1.2 1,166
249 |7 EURA 206 206
250 [ AYF¥FHYF A 217 217
251 |Jxz=haFF 6,322 317 6,639
252 | T F A 132 132
253 | a7 < J7RA 80 80
254 | A7 T~ TRA
255 | FHTOEY T =)L T—F )L 0.80 0.80
256 | T Wk 0.041 0.041
257 |7 H/)—)v 21,172 21,172
258 | NFHPAFL T T 0.35 193 193
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260 |[ZonXno—,L 2,086 2,086
261 | 7Y TIAK 45 45
262 |ThI /o FL 921 5.5 927
263 |[CFC—112

2.3,5, 6—Th7r7aa— /"5 —~_%
264 |7
265 |7 RTERaAF VKT XV
266 |7 7/LRJ 8.0 8.0
267 |FATINT 79 79
268 |F T L 2.7 20 23
269 |V 74—
270 |TL7HLIR 0.00003 0.00003
271 |TL 7 HIVERY AF )L
272 |HiKEETEN (854 1R<, ) 2.6 24 13 10 50
273 | )V~ —RF LT ba—)L 0.11 0.11
274 | H—xV—RTho T4 —L
275 |RT I IVHilE T R A 199 141 1.6 22,350 5,109 27,801
276 |ThTmFL LA 0.31 0.31
277 [N Z=F L7 35 35
278 |[NJ=FL TR 2.7 2.7
279 |1, 1, 1—RM)rpooxx
280 |1, 1, 2—RN)rpoox k.
281 |NJZom—FL > 2,479 7.7 2,486
282 |~ anfEiz 0.50 0.50
283 |2,4, 6—hN)/ou—1, 3, 5—NT7Y
284 |CFC—113
285 |rvoot sy 678 678
286 |FJ7uE L 220 220
287 |2, 4, 6—N)/upr=/—)L
288 |CFC—11 5,414 5,414
289 |1, 2, 3—RJroar o S
290 |F)rma~ B

1, 3, 5—hJA(2, 3—TRF> 7t /L)
291 |—1, 3,5—RM)7Y—2, 4, 6(1H, 3H,

5H) — k4>
292 |NJZF LTI
293 |FUZL Y 102 102
294 12,4, 6—RN)7oE7x/—)L
295 13, 5, 5—FIAF L—1—~FH /—/L
296 |1, 2, 4—RIAF LB 12,765 55 142 171 22,056 16 137 35,342
297 |1, 3, 5—RIAF LB 5,495 40 38 21,611 251 10,942 603 225 1,678 13 40,898
298 |NIL oAV T F—h 1.4 1.4
299 |fLATL 0.007 0.007
300 |brTy 101,532 7.7 0.54] 7,061 99,913 2,206 629 233,862 7,289 1,014] 18,839 687 1.7 473,043
301 [ML=o o7y
302 |F7HL 776 162]  0.009 580 253 1,770
303 |1, 5—FTXZL L IAN="AVT T F—h
304 |43 0.080 0.080
305 |#nbAw 2.2 25 34 9.3 71
306 | T ZUNEEAFTHATFL 0.041 0.041
307 | M e by va=0 A
308 |=v/ L 0.063 0.063
309 | =7 UALEY) 4.1 5.1 488 14 6.2 518
310 | =k = kR
311 [FNbh—=haT=Y—)L
312 A Nb—=btaT=J
313 |=hZ Uk
314 |/NNT—=ppZup~ B
315 |[A/Nh—=hrMlL =z
316 |=ha B 0.11 0.11
317 |=hmAZ 0.033 0.033
318 | “HifkRE 0.33 0.33
319 | /v~ — /=)L )La—)
320 | /=) Tz /)—)L 0.011 0.069 0.079
321 (INFUUMMEEW 0.041 47 35 0.29 82
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394 1, 3—15‘3[(2, 3—TARFT T L) A
R
325 |AFT 8 15 15
326 (/a7 F T
327 |1, 2— bR (2— a7 z=)L)ERTI
328 [TTA 0.19 0.19
329 [ARUH— 3 A—] 30 30
EA(1—AF N —1—Tz=)LF L) =~
330 | rwo e 0.89 0.89
331 | RPHRA 3.0 3.0
332 |{MFE R OPZFOERILEY 0.00002 10 3.9 0.51 15
333 [ERTFYv 1.3 1.3
334 |[A—vRuX 2 BEBATF IV
335 IN— (4—bReXx> 7xz=/L) T ELIF
336 |ERm¥% v 1.0 1.0
337 [A—t =)L —1—ra~Ft
338 |2—F =LY
339 IN—E =/l —2—t'malJR
340 [ 7x==/L
341 [TV
342 Y 0.25 0.25
343 [ hTa—v 0.0005 0.0005
344 | T =)V FFT T
345 |7 ==)LERTFV
346 |[2— 7=V T /)—)L 84 84
347 IN—7xz=/)L<L AR
348 | 7=l UTI
349 |7x/)—)L 18 15 33
350 |~LARYL 64 214 277
351 |1, 3—7 &> 112 384 6,876 211 391 3,420 1,822 13,216
352 |ZHNEE T YL
353 | 7H IR =F L
354 | ZHRNEEY — )L~ — T F )L 3.6 11 163 178
355 | 7HILFEE A (2—F )L ~FI L) 93 11 104
356 | THNR I~ —TF L =~_D )L 0.97 0.97
357 |7 a7 225 225
358 |77 7 /)VR 80 80
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360 |~ /3L 370 370
361 |o kw7 F L 9.0 9.0
362 [T 7z TFa
363 | AFXHTTV 16 16
364 |7zl mFs A—R 15 15
365 |BHA
366 |Z— ¥ —T7F)L=tRa YL AF R
367 [ANb—HH)—TF )N Tz /)—)L
368 [4—F—xV—TF)NTx/—)L 0.050 0.050
369 |7 Lk
370 [BUHZ N 140 140
371 |7 75K 10 10
N— (F—%)—TF)) —2—_ VS F7T
372 SV Z)VT 2T IR 2.5 2.5
473 22— —x)—TF)—5—AF )T =
J—)
374 | 5o bIKFE R OE DK IEMEE 267 13,344 1,553 15,165
375 |2— 7T F—)L
376 |7 X u—)L 36 36
377 |7
378 | 7o R 210 210
379 |2— 7’ —1—F—/L
380 [\ —1211
381 |7 HET/umAR 1,104 299 1,402
382 [Nz —1301
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383 [T~ L 1,028 1,028
384 |[1— 778 1,972 1,972
385 |[2— T aETa
386 | HALATFIL 296 296
387 {7 =2 7 HAR
388 | RALT 7
389 ;iﬂLT SIVNIAFNT e =y h=rmY 8.9 1,263 90 1,362
390 [ NFHAFL U UTIV
391 [ ~AFYPAFL L =TT F—h 0.20 0.20
392 | /L= —~FH 27,120 1,099 987 45,993 94 15 75,308
393 | RNFFTh—)L
394 | VU LK OZEDILEY 15 15
395 |[~ULASY T RREROD KRR 4.3 4.3
396 |PFOS
397 |y =RralR
398 |[Hfb~oPL 0.003 0.003
399 | XU X7 LTER 0.001 63 2,970 131 194 350 3,709
400 |~ B 2,122 1.8 1,865 314] 45,789 2,230 1,173 8,053 1,923 42 63,512
401 jk’t;f A= BRI ARL, 2= 100002 0.000002
402 | A7 F vk 62 62
403 (RS T2 ) 0.001 0.001
404 | XA marx )—)L
405 [1FHFILEW 143 51 0.27 27,109 27,304
406 |PCB
R mFLo) =T LF /L —T )b
407 | (T X NVFEDRFBEDN120615FTOL 4,831 9,629 35 263,742 6,687 284,925
DJOEDELYIIRD, )
408 i”_(ifi/iﬁ//)_jy%ﬂ/7i”l/ 45| 3,706] 3.2 489 13 4,256
R (AFT=FL o) =RFilo—7)L
409 PG 180 14,429  0.010 52,484 10,787 77,880
410 i%ﬁwiﬁ//)_/*"wji*"m‘ 229 6,172 54 856 25 7,336
411 |V LT ILFER 4,540 207 982 473] 22,056 434 7,357 9,995 917 373 15 47,350
412 |~ H U R OZEDILEW 1.8 26 2.9 3.7 34
413 KT )V 0.62 0.62
414 K<L AR 0.034 0.034
415 | ARV )LER 12 12
416 |[ARZVVEE2 — =F )L ~FI )L 0.57 0.57
A17 | ARTVVER2, 3— /R¥% 7 atk’)L
418 | AZTVNVEE2 — (VAFINVT ) =F )L 0.001 0.001
419 | AZTUVER )V~ )LV —T F )L
420 [ AZIVVERATF L 154 125 280
421 [A—AFVT o AFBH —2—F
422 |72 45 45
423 [ AFILT I 0.0001 0.0001
424 | AFN=AVF AT F—h 720 720
425 |4 FahT
426 | HIVARTT
427 [ I YL 10 258 268
428 | 7= )T HNT 160 232 392
429 |\ Tay AF ) 25 25
430 (AR HLT 5.0 5.0
431 |7V F L AbhmE 492 492
432 |[TIFT X 200 200
433 | — NN
434 | AFV I 4.0 4.0
435 B U2y I AF )L
436 | TNV T 7 —AF )V AF L
437 |3—AF NT A7) —)
438 [ AFLFTHL 5.2 475 480
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